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[ General Knowledge }

o1 3R o7 (IRAT®) 202223 W RUE F IqaR,
YRA 1 ga uivr sraxgsdr 9od W IATG
& IR @TEE R

According to the report on Currency and Finance (RCF)
2022-23, India's green financing requirement estimated at

of Gross Domestic Product (GDP).
1.7% (b) 3.2%
4.8% (d) 0.048

Frafafaa & @ e fay wrea w1 & smaifera @t
e W@ & fg @t frer weieaa & it & g
Wy Jui # faRivy RepR shar @2

Which of the following has won a special prize in the
'Health for All' category at the 4th Annual Health for All
Film Festival held at the World Health Organization?

edl IR SAMAT vulvo (b)) TIAFTHR AZH Gasping
and Dynia for life

R FAIZHT I T (d) 3 36 fiifer: @Rt
JEIAC When Climate &ﬁCEEFIEFe',E‘s’Fﬂ's’
Change Turns Violent UIgSIf+7T 39 STCR One

in 36 Million: Story of
Childhood Lead Poisoning
in Bangladesh

Frafafaa dee! & I feam st Rae ey Ay
% 1T SaRRPIA TP PR 2023 T2

Who amongst the following writers won the International
Booker's Prize 2023 for his book 'Time Shelter's?

T rgadf Barry (b) SiSlf Meafea Georgi

Unsworth Gospodinov

mmAnise Koltz  (d) FUTEH THRIAH Nathalie
Skowronek

fFufafea & @ -8y fRaw 23 i &t 7w

ST 22

Which of the following languages day are celebrated on
April 23?

SUSH 3R W English  (b) STt 3R A English
and Spanish and Chinese

T} 3R WA Russian (d) 3Rl SR AT Arabic and
and Spanish Chinese

wwmﬁﬁmmwﬁ

Numaligarh refinery is situated in which of the following
Indian state:

TJSIRTd Gujarat
HIH Assam

(b) HBRIY Maharashtra
(d) XTSIRITT Rajasthan

fay AR feaw iR gu-T gue fiaw ud® oy w9
AT ST 82

World Telecommunication Day and Information Society Day
is celebrated every year on

16 9™ March 16
16 HIS May 16

(b) 16 3 April 16
(d) 169 June 16
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GeRT Y& AT, ERT TE Pt TE WIRY
wfayfoat § o & Sexa A P A9-snuia va g1
The 'Retail Direct Scheme', is a web-based platform for the
purpose of investing in the government securities launched
by AY)

HRAT RSId §F  Reserve (b) Wuﬁ&ﬁf&h?

Bank of India RAFTI S securities
and Exchange Board of
India

forit Jar faumT (d) o= daeH ok gfaen

Department of Financial Q@ﬁf Investment

Services Promotion and Facilitation
Agency

YR PR Pt 3R F fHT IS A Gol-UNSDCF 2023-

2027 & TS BT Aqed fpan

Which organization led the formulation of the Gol-UNSDCF

2023-2027 on behalf of the Government of India?

URIT §F Axis Bank (b) RsI

HIfd START NITI Aayog (d) SEBI

gﬁﬂ-@ﬁmﬁmﬁuﬁl@w%mmﬁﬁwm

Which river forms the famous Sundarbans delta in India?
T Ganges (b) S&IYA Brahmaputra
TR Teesta (d) P Kosi

Tdo! Ft gfd (TR o) B wRig i ufowr g
Fyar & Faferred § 9 5y wa 3 defta g2

The famous bronze statue of the Dancing Girl is associated
with which of the following sites of Harappa civilization?

BSUWI Harappa (b) Iﬁ?:lﬁha_epf Mohen-jo-
daro

ATRT Dholavira (d) QIS Lothal

e 2023 H T &1 Hakw T AT B REPR

fa wra gam?

Who received the Germany's highest honour, Grand Cross
award, in April 2023?

®I9 b Queen Camilla (b) Q@F‘Iﬂ:ﬂ% Angela

Merkel

et King Charles  (d) m’ﬁﬂw Christian

I} Wulff

T IR W TH gHad 3R uesi, gfear &a
2023 Hgs

The India Steel 2023, a conference and exhibition on the

steel industry, took place in .
(b) G'MYR Durgapur

3 Ranchi
PIABI Kolkata (d) HE_S: Mumbai
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According to Union Minister of Youth Affairs & Sports and
Information & Broadcasting Anurag Singh Thakur, an
amount of about will be spent on sports
facilities during 5 years.

T. 1500 X S Rs.1500 (b) %.2600 B S Rs.2600

crore crore
%. 3200 $Q- S Rs.3200 (d) %.3800 $Q- S Rs.3800
crore crore

I HT H AT ol 3l . E :

Number of nominated members in the Rajya Sabha is:
8 (b) 12

10 (d) 16

Il g3 A gRAeFe W tF 33 ¥ i uRa
AR 7 30 2023 H 14 ety Raa wee 9fifa #t
RITGAT 31 8, ot sregeran P

To Look Into Stalled Housing Projects, the Government of
India has set up a 14-member Real Estate Committee in
April 2023, headed by .

WW Rajnish (b) SHATY Hid Amitabh Kant
Kumar

IdT IS Neeta Prasad (d) 31 YRTC Usha Thorat
YR dfau o1 fad ot d Fufafea & |

forad fore Tuy 3R ufagm & ureeu wfire 981 82
The Third Schedule of the Indian Constitution does NOT
contain forms of oath and affirmation for:

P T Union Ministers (b) fodt IsT BT

ISYUTd Governor of a
State
I AYFHSAF A S (d) HRA o Fdad Td
forg ftear The e uieie

candidate for the election
to the State Legislature

The Comptroller and Auditor
General of India

AP AHAIP! SIHUT WS (TTENIR3M) P RITGAT
ERELEIRIER )
In which year the National Technical Research Organization
(NTRO) was setup?

1991 (b) 2000
2004 (d) 2012
Frafifld & A S19-91 3 BIMSTEC &1 UE T8t 82

Which of the following is not a member of BIMSTEC?

B Nepal (b) TP Sri Lanka
2l'léa_{-'fThailand (d) A Mauritius
Frafafea 4 9 59 JwFE/RTeA A 7ra 8 | JaeR

TR & $fgd v & T smgy baed) 91 H gf ave
| PRI WIfa arat SgHi # uRafdd $ 1fed |
A 3T ATdS &7 IwhHl (Niewy) # | Tw, TsaRs
auq Us sferude sfear fufies & 91y te diwsk
A W gwIeR U e?

Which among the following institutions/organizations has
recently signed a CSR Agreement with Advanced Weapons
and Equipment India Limited, one of the seven new
Defence Public Sector Undertakings (PSUs) formed by
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converting the Ordnance Factory Board into fully
government-owned enterprises to focus on innovation?

SRR PTG IT (b) 3ME3MME et 1T Delhi
Kanpur
SWI ISRO (d) SIRSISN DRDO

T 931 & qoafis g &1 SRifuet fAafafaa # @
Ur?

In the Sunga dynasty, who amongst the following was a

successor of Pushyamitra Sunga?

ggad Brihadratha (b) YSd Dhanadeva
&g Divyananda (d) SITATEF Agnimitra

TUd/aTe @Il | A Y= R S gRumar $t aia 9@
¥ fiar Harfera ar grar 1 #t 9Tt 8, 3%

31eTd! 9T & w0 § aeffepa frar wrar 3

Balances in savings / current accounts which are not

operated or claimed within from date of

maturity are classified as 'Unclaimed Deposits'.

3Ty 3 years (b) SEﬁSyears

7aﬁ7years (d) loa'ﬁfIOyears

PR & XaR H FafafEa 9 d 57 omrT 31 3ier
YTE/Hd BT SITaT Y12

Who among the following in Akbar's court was known as
the blind bard of Agra?

RGN Sur Das (b) TEAHTETY Vallabhacharya
PR Kabir (d) JHtG™ Tulsi Das

YRd H 01 7g &1 i S searg?

Who appoints the Chief of Naval Staffs in India?
T & Fgfad 9ffd  (b) I&THATTT Ministry of
Appointments Committee Defence

of the Cabinet

HRA & PUFA President

of India

fafesr s & SR, Fafafee & @ s 89
Y.ITSIRG WUl B HETAATS ! a1 & 3feifa ATar uT?
During British reign, which of the following areas came
under the Mahalwari system of land revenue system?

(d) T 3 f&thd werwh

Chief of Defence Staff

3NSTM Orissa (b) S8R Bihar

Eﬁé Bombay (d) PEIC) Punjab

Harwita ot Frifa o= & g smdtens (rei) Y0¥ o7
To control inflation,RBI will the repo rate.
ﬁq@ﬁm increase (b) T HH BT decrease

P FRRR WM maintain (d) TH I DS T8I none of

these

gifa Ia A AT ST 2|

Hornbill festival is celebrated in .
3{H Assam (b) TR Manipur
fISIRH Mizoram (d) AT ds Nagaland
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fafafea & @ o9 dgw 5w emfver d dig
grarfer 579 9Tl gl g Aften 2

Who amongst the following is the first Muslim woman to
become a federal judge in USA?

TRA TRl AR Nusrat (b)) THRT 3EHS Sameera
Jahan Choudhury Ahmed

TR T€HM Nargis (d) BIGTHs! Hoda Katebi
Rehman

TR daadla T § SIHRI ST AT B RITGAT
FARES & NPRI A o1 718 At | 399! Rt @
U frg S & FgaT & A1y $1 718 A2

In the third Five Year Plan, Bokaro steel plant was set up in
Bokaro, Jharkhand. It was se up in collaboration with which
of the following countries ?

¥ Russia
Wi France

YUTER B UEH U & &9 # aftfa foan
ST ¢ | HUTHAT & 31U UG § @NTUF 3 &1 Hiufug
TR T YT ISl 82

The Prime Minister is described as 'Primus inter-pares'.
What is the consequence for the Council of Ministers of the
resignation of the Prime Minister from his office?
TRURYG S AMIAST (b)) Had daid g HAl Dl
ml The Council of Wé_'ﬂa“'ﬂl Only the
Ministers will have to union home minister will
resign. have to resign.

FET R ER B UYFEE  (d) HEIRYE B @RYE A
ﬁ%mml The BT The Council of

union home minister will Ministers will have to

be appointed as the Prime resign.
Minister.

YR eI B TH yopfd B &= # I9d §e, I8
UgaH $ifvE $1 HRG SfayE & Fafafaa d 9
o5y & <t & FRiueT S gus H B
wrauT fan 82

Considering the federal nature of Indian polity, identify
which one of the following parts of Indian Constitution
provided separation of the judiciary from the executive?

(b) fSe Britain
(d) \_IlﬁGermany

URATGHT Preamble (b) Hif® SRABR
Fundamental right

ITg & Hifa Fderes (d) e S

RIGid Directive principle Fundamental duties

of state policy

SidIR W I URA & el ¥ @ frawsa §
fRag:

The Bandipur National Park is situated in which among the
following States of India?

3NfSM Odisha (b) 3Y UGN Andhra Pradesh
A Kerala (d) PlcP Karnataka

TP 9% WeHC H, TGV B T D! BT >
U fRREmarwmar@|

In a bank statement, cash withdrawn is shown as
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PHTST Credit
A Profit

(b) SfST Debit
(d) Y Expense

TQUS F1 I & fore faur S Rygid 999 s =4
¥ Wipa Rigia 31 a8 Risia forad g1 yanfaa fan
™ 41?

Big Bang Theory is the most widely accepted theory for
origin of the universe. It was proposed by:

Usfad U §9d Edwin P (b) S QS: XL Georges
Hubble Edouard Lemaitre

faferam g2 william (d) SIEI FTR Johannes
Herschel Kepler

aftierrg # uRie wart @R dfer Fafafea 9 @
fFaadi s TR RA g2

The famous Bhavani Sangameshwara Temple in Tamil Nadu
is situated on the confluence of which of the following

rivers?

YA @?W Bhavani  (b) W@TW Krishna
and Krishna and Godavari
W\’rﬁ?lﬁr‘ﬁ Krishna (d) P 3R HaTT Cauvery
and Bhavani and Bhavani

fay S wig w1 g=ay AfRE

The headquarter of World Bank Group is situated at

(b) Q{Qﬁ New York
Washington D.C.
%"‘T Hague (d) 3T T vienna

YR B TRIaS AranfiaIon 3t T & g w9
T Gt =Y v fBar man
Which constitutional amendment provided for the setting
up of Administrative Tribunals in India?

qifRiTe St

2491 G 24th (b) 4231 T=MeH 42nd
Amendment Amendment
4431 FRMEH 44th (d) 59 HRMEH 59th
Amendment Amendment

"YRA B HYYAT, THdT 3R Gsar $I &7 3R 3
JHefuur TE-T forares dga Sfcafad uau 82

"To uphold and protect the Sovereignty, Unity and Integrity
of India" is a provision made in the

TfIET B IR (b) T ifa & Az da

Preamble of the Directive principles of

Constitution State Policy
fere SHfIeR (d) e P Fundamental
Fundamental Rights Duties

it awg a1 Fur Bt e St 9 § 4 fre sRe w®
ke e

Kinetic Energy of an object or a particle depends upon
which of the following factors?

T fUUE &1 dm (b) TIfaE™ U &1 sm™
Velocity of the moving Mass of the moving body
body

A fUvs &1 g (d) 13MR23HIBoth1and2
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Pressure of the moving

body

Si+ fafrea o SuaiT fosan S arer famgg

]

The virus used in gene therapy is

ﬁ'%:ﬁw adenovirus (b) i‘@amw retrovirus
HRIMTEERY coronavirus (d) A Aol IR

tobacco mosaic virus

MBS S o aSTIT AT

The Battle of Chausa was fought between

A 3R 2RTE T (b) TR 3R UM FAT Babur

Humayun and Sher Shah and Rana Sunga

Suri

3HER AR Y Akbarand  (d) HIEHE TR 3R QIR

Hemu Mohammad Ghori
and Prithviraj Chauhan

AT 991 P foh T A ot Irererit gk @ feh

RTIARd $2 4t

Which ruler of the Slave Dynasty shifted his capital from
Lahore to Delhi?

SeqatH litutmish (b) FSrIT Yo Razia Sultana

3{TH T Aram Shah (d) T 3¢ dH aafed
Ghiyas ud din Balban
711 §1 § ST IR 31 Wfa & g sierigia fdaw #a

T T §?
When was the International Day of Trade Commemoration
celebrated ?

20 3T 20 august
22 31X 22 august

(b) 21 3T 21 august
(d) 23 3T 23 august

BT 8t § JEHT R Ihadyd® S aTal YIRd i 9
TR BTG 8?

Which country has recently successfully landed on the
moon ?

G Second (b) Ugd First
AIRT Third (d) TN Fourth
7a & # W Tu WoR 7 ARy e s@avur

RARMY (saunn) T 61 QRT fa @2
Which state government has recently completed the
‘Saurashtra Narmada Avartan Irrigation’ (SAUNI) scheme?

HERTY WHR (b) T TRPR Delhi
Maharashtra Government government

TTSRTd AP Gujarat (d) USITd TRDBR Punjab
Government Government

fora w=ft 9 & yeziHt-wg-aWed $% - ‘URd

TSUW HT IgHTe [ba1 32
Which minister has inaugurated the International
Exhibition-cum-Convention Center — ‘Bharat Mandapam’?

% AT Narendra Modi (b) XTSI o 3 Rajnath Singh
3T BIPHR Anurag (d) 3HfHd TG Amit Shah
Thakur
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(@)
(©)

5 a=1 7 7 foT e gardw & W & g siaeigia
o Fe varny ar= fear g?

Which country has launched the International Big Cat
Alliance for the conservation of 7 big cats?

T china (b) Glc_\rﬂﬂﬂTAlgeria
3t argentina (d) YHRd India

o Hamery 3 Wt Seala WY (TEESTS) P o |
Qd S Ha1a $ [ RGeS AT=ad1 UeH 31 82

Which ministry has granted official recognition to the

Handball Association of India (HAI) to run the sport in the

country?

A AT Sports Ministry (b) fad AT Finance
Ministry

TRI&1T TATTT Ministry of (d) T8 HATAT home Ministry

Education

YRd # 1 feaq &9 AT Sian g2

When is Teacher's Day celebrated in India?

05 RIdsR 05 September (b) o4 fdeR 04 September

06 fIdsR 06 September (d) 05 3{dcsER 05 October
Ft W g gy A Rraret ok STty o e
T & fore fead a1y gwshar feare?

With whom has Union Minister Dharmendra Pradhan

signed an agreement to empower ‘teachers and
entrepreneurs'?

TeT Meta (b) QT Google

TTZHIAITE Microsoft (d) % HG&l Tech Mahindra

YRdE ey ot faem o fafies A
Theoia ut & faem & e fva o & 9y
;mgﬁ?n far %? Indian Renewable Energy Development

Agency Limited has tied up with which bank for the
development of renewable energy?

Redd M EfeTqstate () T dF 3T gfgan
Bank of India Union Bank of India
PRICEREGEED Punjab (d) ¢ 9P Bandhan Bank

National Bank

[ Reasoning }

& S TEns # M H seem W Fufafae & /@
BI-91 GHIH0 g g

15 3% 20

Which of the following equations will be correct if the given
numbers are interchanged?

15 and 20

1.15+45-20+10+2x4 =46
.2x3+15+5+2x9-20=13

Had | Only | (b) FHa Il Only II
13RI Both land 1l (d) STl 3RTE I Neither |
nor Il
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RAINBOW : UZLMENZ : : MONSOON : ?

PNRRQNQ (b) NPQRRQN
PNRQRQN (d) PNQRRNQ
faweai § & Semnsit & ayg ST 994 HI §l Huatarad

el & g  GHT TR 8|
Select the set of numbers from the options which is not
similar to the following set of numbers.

(23, 38, 84)
(60, 35, 57) (b) (11,28, 39)

(35,52, 91) (d) (17, 19, 62)

W9 U gUUT B TP b 31E SR T o @, dr - &
% STHTd & T qTar guor gfafde gra Siforg|

Find the mirror image of the figure given below when a
mirror is placed to the right of the figure:

Jo
o

EIAD

1- 2-

) ) S

1 () 2

3 d) 4

S T T T B Fore ff 7 sy Srafifea &
(gof 3 3rgAfa Tt 2):

Select the figure in which the given figure is embedded (no
rotation allowed):

N

1- 2-
3- a-
1 (b) 2
3 @) 4

I APfd BT T B ot (Aufarad e § mt
S

Select the figure that will come next in the following series:

-— \e — S | ]
_l‘\ —_— —_— —_— 0y
— = == [— |
—_— | — | —\ | — | —
— —
— —_—
1 2

(@)
(©

57.

(@)
(©

58.

(@)
(©)

59.

(@)
(©)

60.

(@)
(©

61.

-—
JE—
re— m—
3- L7/ a- .
1 (b) 2
3 (d) 4

fwel & @ 97 onepfa 3 SRR Y & 7§ anpfa wt
qof S

Find the figure from the options that completes the given
figure:

N
PR

() 2
3 d) 4
THE 99 ot ¢ fRufaal R g 7 &1 I=m 2 9

BAP & [AUd Bae WS- @ smt?
Two positions of the same cube are shown below. Which
number appears on the face opposite to the number 2?

[

2 () 3
1 d) 4

o A Q@ P11 3 AT 1T g Ft wgfa &1 srgERor
HRAT§?

Which of the following terms follows the trend of the given
list?

AAABBCCDDEE, AABBBCCDDEE, AABBCCCDDEE, ___.

AABBCCDDEEE (b) AABBCCCDDEE
AABBBCCDDEE (d) AABBCCDDDEE
TP fafia ®re v & 'past is history’ Bl 'tu sumu' P

*q ¥ frar siran %, 'present is mystery' B 'ku au tu' P
*u ¥ feran GI'IHT%T‘NT 'past was present' Bl 'ruausu' P
Y # frar airan , d THE YT # 'mystery' B fma
R ferar s

In a certain code language, 'past is history' is written 'tu su
mu', 'present is mystery' is written as 'ku au tu' and 'past
was present' is written as 'ru au su'. How will 'mystery' be
written in that language?

ku (b) ru
tu (d) au
Uy # IR HY feT U & S 94 g ot god & SR 8T

ft1 39 FYEl F 915 IR ey ma & ITH A TH B
TIH B ol A D ©U A FYT BT STH0 HaT ¢ |
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DY

PO cuts, buts gl
It buts, nuts %I

aﬁi nut, bat Hﬁ%l
PO bats, cuts %'I
e

In the question, four statements which may or may not be
true are given. These statements are followed by four
conclusions, select one which logically follows from the
statements.

Statements:

Some cuts are buts

All buts are nuts

No nut is bat

Some bats are cuts

Conclusion:

(@ Ut cuts & bats sﬁaé‘r
HlﬂTﬂT%AII cuts being
bats is a possibility bats is a possibility

(c) PIs nut, cut T8I & No nut (d) T2t bats & cuts B BT
is cut THTGT § All bats being
cuts is a possibility

62. I ATHfa BT TgT BIfore ot FafafEa srepfa s@ar
T 3T I TR 3T |

Select the figure that will come next in the following figure

'QQO?

(b) TS buts P bats B BT
H‘H'ITHT% Some buts being

AN

(A) (B) () () (E)

e A

(I (I (111) (V)

(@ | (O
() m (d) v

63. fufaf@a ar snfaay 1, u, m 3R v & F AR
TP ST B2

Which of the following figures among |, Il, lll and IV is odd
one?

iy | o] ] [

(@ n (b) v
©) | @ m

64. Y d, Ry el & & aw&fia g STagT &
fifex: Eﬁ%ﬂ?:: 2 AT AU’
In the following question, select the related word from the
given alternatives
Printer: Hardware:: ?:Software

(@) HI3YH (Mouse) (b) mﬁ(Desktop)
(c) UZISE (Android) (d) HISEd (Mobile)

T
T
T
I

65.

(@)
(©)

66.

(@)
(©)

67.

(@)
(©

68.

(@)
(©

69.

(@)
(©)

70.

faw T fasedl ® & Hafira wem &1 e B
Select the related number from the given alternatives:
15:189::19:?

241 (b) 261

289 (d)y 321

I e PT T B, Wl TG & 3T M| BT e
9 Q4 MHredr-godr g2

Select the word which is least like other word in the group

T Tabla (b) e Violin
AR sitar (d) fTeR Guitar

I THFA BT g HY Fored & 7€ anpfay siafifRa &:

Select the figure in which the given figure is embedded:

nmh

N 04

1 () 2
3 ) 4

fFrafafeq 4 3 seiis e g i

Find the odd figure among the following:
A SN | 2 ] <Ad
T | /| s |1~

1 2 3 a

1 () 2
3 d) 4

I I 3G Pt UgAH B/ o1 a8 T Tt & ot
Ty B T ST A gRfar |

Identify the venn diagram that represents the relationship
between the given classes correctly.

Cat, Dog, Pet

@, 0D

Frafafea FA A0, 0, m, v & A B i
AT W U 98 99 P g2l @

foran o gen Wraar o

Which of the following figures among |, i, 1ll, IV depict the
correct cube obtained on folding

the given unfolded hollow cube?
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@)
©

71.

@)
©

72.

@
©

73.

@
(©

74.

@
(©

75.

[*}
-

I L m [4%

| ©) 1l
i (d) v

feu v fawedl & ¥ I9 T T U PiT W)

?ﬁ%@amﬁwﬁg(?)ﬁuﬁwﬁamm
|

?,12.55,15.10, 17.65, 20.20, ?, 25.30

10, 22.75 (b) 9.55, 23.50

11.20, 24.20 (d) 10.5,23.25

TP T i gH, St Sifaw npfa & GA gU T &
Taq 3 | fradt-gadi 8
Choose a figure which would most closely resemble the
unfolded form of the last figure.

"":2::: + T4
Q= o I 1 = 1 B N P I 1 =i
vE=0x| |epns| |rpnsf [PEIR
| ()
I (d) v

TP A3 YT A 'cHAOS' Bl '6840' & U W Sifsd farar
4T § 3R 'DANCE' P '840' & U H Bifed forar T g1
THT HTHT H 'crAZY' B fhd U R Sifsd farar simeem?

In a certain language, 'CHAOS' is coded as '6840' and
'DANCE' is coded as '840'. How will 'CRAZY' be coded in that

language?
37100 (b) 35100
36100 (d) 34100

A 3R B B 3NId 3y 33 a9 §, B AR ¢ F} 3N 3MMg 31
¥ 3 SR ¢ 3R A B 3iTd 3y 35 af B1 A 30X B B
3T 3 A 3R ¢ B Mg & d9 F iR &1 3 A
a"‘)"%lQ |

The average age of A and B is 33 years, that of B and Cis 31
years, and that of C and A is 35 years. Find the average of
the difference between the age of A and B and the
difference between the age of A and C.

63§6years (b) 559855 years
6.5d5 6.5 years (d) 5 ¥s years

e fAfda Gt o snepfa A, 3npfa B A Hafta @1 waH
Ye BT FEIVT HId §U SATHIA ¢, 3Tpfa p | Heftra

B e &1 rwggeT P ok 39 pfa &1 7
FITE oY p & RITH TR @1 =T AT

Figure A is related to Figure B in a certain pattern. Following
the same pattern figure C is related to figure D. Study the
pattern and select the figure which should be placed in
place of D.

* . [ *..[®
pE. 12 i# o=l an: |2 #
Y + + U 6 P
(A) (B) (C) (D)
6 @ 6 @ 6 @ 6 @
Dm Dm dm Dm
¢ Pl |9 ® (r ® |r *

() (11) (I11) (Iv)

(@ | () 1
() m (d) v
[ Numerical Ability ]
76. 6992 +19 - ?% of 652 = - 4196
(@) 250 (b) 500
(c) 800 (d) 700
77. (7.5x7.5+37.5 + 2.5 x 2.5)% HF gd13C ?
Find the value of (7.5 x 7.5 +37.5 + 2.5 x 2.5).
(@ 100 (b) 80
(c) 60 (d) 30
78. S HWT 2 : 3 & 3JUTd ® g1 Ufe U G=m A A 2

(@ 30

(©)

79.

(a 81 qliex 81 liters

(©)

80.

USTAT ST YT gt el § 2 Sits far oimg, at 39d 1
2 T 3UTd §1 WA 2 | WIS BT AT g -

The two numbers are in the ratio of 2: 3. If 2 is deducted
from the first numbers and 2 is added in the second
number, then they have a ratio of 1: 2. The sum of the
numbers will be -

(b) 28

24 (d) 10

et 720 dflex gu ayr it & fyyor & gy &1 9= @
AU 7:2 81 TP T fhrgor, R gy aur ur=h &1
ST 7: 3 B,UTW $ & e IR fAyor o fremg
ST areft ot 5t g -

The proportion of milk to water in the mixture of 729 liters
of milk and water is 7: 2. The amount of water that will be
added in the above mixture to get a mixture of milk and
water in the ratio of 7: 3;

(b) 71 qlex 71 liters
56 T1eX 56 liters (d) 50 Tlex 50 liters

¥ 2008 H 31 % HHATAT 3 H BT YA HATI HI A
A 919 AT HHARY 20,700 B | TGIIAR HHARG B FA
e fpat 3 2

In 2008, 31% of employees paid taxes. The remaining
employees who do not pay taxes are 20,700. Accordingly
How much is the total number of employees ?
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@
(©

81.

@
(©

82.

@)
©

83.

@
(©

84.
@
©

85.

@
(©

86.

@
(©

87.

@
(©

88.

31160 (b) 64750
30000 (d) 66775
In what time will the simple interest be 2/5 of the principal

at 8 percent per annum ?
8 wfa=ma ufd adf & gaus W AYR A gAY BT
2/5 fpam auf & ghm?

8 years 8 {IdT (b) 7 years 7 9lcl
5 years sy (d) 6 years 69Tl
A library has an average of 510 visitors on Sundays and 240

on other days. The average number of visitors per day in a
month of 30 days beginning with a sunday is -

TP QRaeTad § IAAaR &) SiRaa- 510 AT 314 & 3R
37 Y & 240 AT AT ¥1 IIR | = B a1 30
?ﬁ%wnﬁﬁﬁuﬁrﬁqa{ﬁmﬁ?ﬁﬂﬁaﬁﬂam

250 (b) 276
280 (d) 285
What is the area of a rhombus (in cmz) whose side is 10 cm

and the smallest diagonal is 12 cm?

I THEgde &1 &awd (@if I F ) g9 HY R

YT 10 T B 94T a4 Biel el 2 Tf a8
120 (b) 192
96 (d) s0

62% of 16850 + 32% of 7345 = 52% of 645 + ?
12462 (b) 92891
12378 (d) 23511

3! B3 BT AN 40 § 3R ITHT iR 4 B | H@13HY BT
U TR ?

The sum of two numbers is 40 and their difference is 4.
What is the ratio of numbers?

21:19 (b) 22:9

11:9 (d) 11:18

A foreft Bt ot 3t 6 famt A ) Fava § R B IFA
for<ht orf o1 8 fol & B PHar 21 A 3R B 3200 F. A
B4 31 B R off 3R ¢ Bt Heg A I FrRf Y
%ﬁwﬁgﬂmmﬁm,a‘rﬁmﬁﬁcmm
?

A alone can do a piece of work in 6 days and B alone in 8
days. A and B took responsibility to do it for Rs. 3200. And
with the help of C, they completed the work in 3 days. How
much is to be paid to C?

375%. Rs 375
600 . Rs 600

(b) 400%. Rs 400
(d) 800%.Rs 800

EAPI20% =B BT50% 2, AT A DT fPa ufaeaB e ?

If 20% of A = 50% of B, then what percentage of A is B?
30% (b) 40%
25% (d) 15%

gfe fHdt avg P 240 T, H I W 20% FTATY TR,
dt 3 ¥ BT 954 e [T DI |

If a person gets 20% profit on selling an item on Rs.240.
Then find out the cost price of that item ?

(a) 200%.Rs 200 (b) 210%.Rs 210
(c) 220%.Rs 220 (d) 230%.Rs 230

89. Find the compound interest on Rs 15,625 for 9 month at
16% per annum when compounded quarterly.

15,625 ¥UY WX 9 AEIH & oW 16 % wfd ad & feama &
Teh gl 1ol (Fdl o9 oot foATe! Tshgfes & fRama &
TII/IE?
(@) Rs18511851%
(c) Rs19511951%

(b) Rs19411941F
(d) Rs19611961%

90. Aroom 5m x 8 mis to be carpeted leaving a margin of 10
cm from each wall. If the cost of the carpet is Rs 18 per Sq.
meter, the cost of carpeting the room will be

T HHI 5 HIeR x 8 Hiex &7 g, oad el T 8
MR TP TR A 10 9 F ARH FY Be1 21 A
P P! ARTd Ufd af 18 § &1 FAY § BIelH TH
& AnTd gt

(3) Rs673.92673.92%
(c) Rs691.80691.80%

(b) Rs682.46 682.46 %
(d) Rs702.60702.60%

[ Computer Awareness }

91. WIS UgH XM .xis frad e uaw foran SiTan 82
File extension .xls stands for

(a) HIEHNTE Tod BIgd

Microsoft excel file

(c) i CRE T3 Plain text

file

92. FHfafEd & 1H-91/4 Fgia u, AIsH e ey
F AemSe T A SufRE A /2
A. RTITG q
B. UsT A3 Ju

C.FSREES PR YU
D. 3RS U
TR AT U P T ITANT HIP Tt SR BT IGT P

Which of the following control groups are present under
the Layout Tab of Microsoft Office?

A. Paragraph Group

B. Page Setup Group

C. Header and Footer Group

D. Arrange Group

Select the correct answer using the codes given below:

(2) PIAA, B3RDA BandD (b) HATAAonly

only

(c) WB@TDBandDonly (d) av_ClF‘TDDonly
93. fAmfifEa # A H-u1 fawey us gYe feaga & @2

Which one of the following is NOT an input device?

(a) aﬁEﬁéKeyboard (b) TR Scanner
(c) SIAfe® Joystick (d) @ieR Plotter

(b) ST T3 Database file

(d) mw Binary file
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94.
@
©

95.

@
(©

96.

@
©

97.

@
©

98.

@
©

929.

@
(©

100.

SCHOLARS ACADEMY

_ rfig ) e SnuRYQ FeRM gfe B

__isabasic computation unit of the CPU.

TR Processor (b) B Core
& Cache (d) §HBus

TS e fea T G T gaT o2

Each pixel is composed of how many colours?
2 (b) 3
5 (d)y 7

AT 98 # AR o IR $t P9 29 & siaifa
QT ST 82

"Spelling and Grammar" in MS Word is placed under which
tab?

TE Insert (b) X Reference
o View (d) ﬁqReview
Frafafea &3 o1H-91 3w wd gafa T8 a2

Which of the following pairs is NOT correctly matched?
1KB- 1024 Byte (b) 1MB- 1024KB
1TB- 1024MB (d) 1PB-1024TB

fafafae & @ $9-91 g saw—® d

rae Iy Jr=a SRl & fore favar mam ur ﬁ;
HRITHS FHRTSHT B g HAT?

Which of the following was the first electronic computer
that was used for general purposes such as solving
numerical problems?

ENIAC (b) EDVAC
EDSAC (d) UNIVAC
fafafea & ¥ o991 ew e Ta &

Wit # T8 82
Which of the following application is NOT owned by
Google?

YAd YouTube
ng Ad Sense

(b) TSRATS Android
(d) fgex Twitter

@t | # Fufafea g gidee o 4@t o § 39
ST d AR Y-

Bl Gl
| Ctri+ K | A Tl TRems & e § @31
Il. Ctri+ Z | B. 375

I, Ctrl+ V | C. SI3URT® 3-9¢ @l

IV. Gtrl+ E | D U%

Match the following common shortcuts in List | with their
purpose in List Il

List |

List Il

[ Ctrl+ K

A Center a paragraph

ll. Cirl+ Z

B. Undo

. Ctrl+ vV

C. Insert hyperlink

V. Ctrl+ E

D. Paste

(@) I-C 1I-B,1-D, IV-A
I-B-1l- A, lll- C, IV-D

(b) 1-A1I-C, lII-A, IV-D
(d) 1-D, II-C, Ill- B, IV- A
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